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6-4-2

Testdata <- read.csv("Testdata.csv")
head(Testdata)

library(psych)
describe(Testdata)

e

R Console

» librarv(psvch)
Warning message:
Jidr =38 vpsyent [ 3.2.1 @ R O TFTEENFLE

» describe (Testdata)

vars n mean sd median trimmed mad min n

Grade 1 2027 7.13 4.01 7 7.00 4,45 1
nl 2 2027 6.01 2.80 [ 6.01 2.497 4]
Lz 3 2027 5.98 3.22 & 5.24 2,97 4]
L3 4 2027 B.02 3.21 6 6.02 2.97 0
L4 5 2027 5.95 3.24 [ 5.93 2.387 0
LS & 2027 5.83 3.21 [ 5.83 2.97 4]
L T 2027 5.93 3.17 [ 5.93 2.97 4]
L7 8 2027 5.85 3.18 & 5.g4 2.97 4]
AB 9 2027 5.9&6 3.15 & .95 2,397 4]
k] 10 2027 &.02 3.16 [ 6.04 2,97 4]
Bl 11 2027 6.01 3.13 & 6.01 2.97 4]
B2 12 2027 5.895 3.18 6 5.96 2.97 0
B3 13 2027 5.94 3.15 [ 5.94 2,397 0
B4 14 2027 5.93 3.16 [ 5.822 2.87 4]
BS 15 2027 6.01 3.22 [ 6.01 2.97 4]
16 2027 .85 3.21 & 5.95 2.397 4]

5.92 3.16 & .23 2,37 4]

L.BB 3.20 [ 5.87 2.97 9

6-4-3

e attach(Testdata)

e TotalA<-A1+A2+A3+A4+A5+A6+A7+A8+A9 |

e TotalB<-B1+B2+B3+B4+B5

e TotalC<-C1+C2+C3+C4+C5+C6+C7+C8+C9
e TotalD<-D1+D2+D3+D4+D5+D6+D7+D8+D9__

* Total<-TotalA+TotalB+TotalC+TotalD
e Totaldata<-cbind(TotalA,TotalB,TotalC,TotalD,Total) #

e describe(Totaldata)

attach Testdata

5




(kurtosis): ta)

Ku>0 +A3+RA4+A5+AG+AT+AB+AT
+E3+E4+E5
Ku=0 +C3+C44+C54+C64+CT+CE+CT
Ku<0 +D3+D4+D5+D6+D7+D8+D9
b+ TotalB+TotalC+TotallD
pind ({Totallk, TotalB, TotalC, TotalD, Total) #T —2A0R )TF

> e (Totaldata)
n mean zd median trimmed mad min max range skew
A 1 2027 53.53 23.8%9 54 53.55 25.20 0 108 108 0.00
Tota 2 2027 25.83 13.41 30 29.80 14.83 0 a0 el 0.02
Total 3 2027 53.49 23.76 53 53.46 26.69 0 108 108 0.01
4 2027 53.71 23.8%9 54 53.74 26.69 0 108 108 0.00
Total 5 2027 1%0.56 82.91 182 190.52 88.96 0 384 384 0.01
kurtosis ze
Totald -0.64 0.53
TotalB -0.64 0.30
TotalC -0.66 0.53
TotalD -0.66 0.53
Total -0.65 1.84
>
£

(skewness)
Sk>0
Sk=0
Sk<

6-4-4
. (reliability)

. internal consistency :

Cronbach

- EER . SEEOAHO
o= mEE1(1- -éhﬁfr%mﬂgﬁﬁi J
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R @

install.packages("psych") #psych
alpha(Testdata[,2:10]) #2-10
alpha(Testdata[,11:15]) #11-15
alpha(Testdata[,16:24]) #16-24
alpha(Testdata[,25:33]) #25-33
alpha(Testdatal[,2:33]) #2-33

11

Reliability analys=sis
Call: alpha(x = Testdatal[, 2:10]})

0.85 0.895 0.95 a.

0.24 0.95 0.96

Beliakility if an item i= dropped:

68

2l 0.94 0.94 0.93 0.

n2 0.94 0.94 0.94 4]

B3 0.94 0.94 0.94 o]

R4 0.94 0.94 0.94 o]

6.3 LS 0.94 0.94 0.94 o
La 0.94 0.94 0.94 o]

BT 0.94 0.94 0.94 o]

LE 0.94 0.94 0.94 4]

0 95 ekl 0.94 0.94 0.94 4]

Item statistics

0_90 n raw.r std.r r.cor r.drop mean
a1l 2027 ©0.93 0.8%3 0.94 0.91 &.0

0.94 nz 2027 ©0.83 0.83 0.8B0 0D.78 &.0
A3 2027 ©0.84 0.85 0.84 0D.80 w.0

0.95 h4 2027 ©O.84 0.84 0.B1 0.79 6.0
a5 2027 ©O.84 0.84 0.B1 0.79 &.8

hg 2027 ©0.83 0.83 0.BO 0.78 5.9

0'98 AT 2027 ©0.83 0.83 0.BO 0.78 5.9
hg 2027 ©0.83 0.83 0.BO 0.78 6.0

A9 2027 ©0.83 0.83 0.80O 0.78 6.0

R Console

raw_alpha std.alpha G&(smc) average_r 5/H

> alpha (Testdata[,2:10]) #2-108|BIZEEB2HFIOT -8

ase mean sd

12 0.0054 5.9 2.7

65

.68
.68
.68
.68
.68
.68
.68
.68

. .o
ThAORY R RY R R ORY R [

[FU R T I VI PV P TV VN

15
i7
17
17
17
17
17
17
17

lower alpha upper 95% confidence boundaries

raw_alpha std.alpha G6&(smc) average r 5/M alpha =e

0.0063
0.0061
0.0061
0.0061
0.0061
0.0061
0.0061
0.0061
0.0061

12
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R W

omega(Testdata[,2:10]) #2-10
omega(Testdata[,11:15]) #11-15
omega(Testdata[,16:24]) #16-24
omega(Testdata[,25:33]) #25-33
omega(Testdata[,2:33]) #2-33




Cmega
Call:

G.6:

Cmega
Cmega
Cmega

Bl 0O
RZ2 0
R3 0
R4 O
BS O
Be 0
RT O
RE O
RS 0
Bl 0
B2 0.
B3 0
B4 0O
BS 0
Cl1 20
cz2 0
C3 0
C4 0
Cs 0
Ce 0

Q

omega (m = Testdatal,

Alpha:

Hierarchical:
H asymptotic:
Total

o Fi®  F2=

82 0.31
.78
.81 0.43
.79
.79
.78
.79
T8
.78
.80

T8

T8
.78
.81 0.35
.79
.79
T8
LTT7
.78
T8
.79

0.

[ T R s

F3*

ag

.93
.95
.96
.99

2:331)

n2

0.22 0.89%9

0.55

[T e s e i e o s e Y e e o e

.65
.84
.65
.65
63
.64
.83
63
.54
.63
.82
B3
.78
.65
.64
.83
682
63
.82
.64

D00 0000000000000 00000

uZ

.01
.35
.1la
.35
.35
.37
.38
.37
.37
.06
.37
.38
.37
22
.35
.38
.37
.38
.37
.38
.38

Schmid Leiman Factor loadings greater

D00 0000000000000 00000

than 0.2

iy

.85
.87
LTT
.97
.87
.87
.97
.97
.87
67
.97
.97
.97
.84
.87
.97
.97
.87
.87
.97
.97

15

e.g.
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6-4-5

. validity

. criterion-related validity

e.g.

17
6-4-5
» Testdataneeds.csv 560
" "
Testdataneeds <- read.csv("Testdataneeds.csv")
head(Testdataneeds) R —
d ib d d S
escribe(Testdataneeds)  {.l....cicccomancens)
wars n mean =sd median trimmed mad min max range sSkew kurtosis =¢
Grade 1 560 B8.26 4.45 9 8.35 5.83 1 15 14 -0.20 -1.23 0.1¢
il 2 560 3.13 2.386 3 2.94 2.97 0 11 11 0.66 -0.21 0.1¢
Lz 3 560 2.40 2.50 2 2.07 2.897 0 10 10 0.86 —-0.09 0.11
A3 4 560 2.77 2.66 2 2.46 2.97 o 12 12 0.73 -0.28 0.1!
A4 5 560 3.77 2.96 3 3.53 2.97 o 12 12 0.48 -0.52 0.1:
AL @ 560 3.12 2.65 3 Z2.88 2.97 o 12 12 0.62 -0.28 0.11
Aa T 560 2.39 2.65 2 1.99 2.397 o 12 12 1.06 0.47 0.11
AT g Se0 2.62 2.56 2 2.30 2.87 o 12 12 0.80 -0.19 0.11
LE 9 560 4.06 2.85 4 3.93 2.97 o 12 12 0.35 -0.49 0.1:
0 560 3.18 2.73 3 2.92 2.897 o 12 12 0.60 -0.39 0.1:
42 2.53 2 2.07 2.87 o 12 12 0.80 0.00 0.11
2.64 2 2.31 2.87 0 11 11 Q.80 -0.25 0.11
2.87 4 3.58 2.97 o 12 12 0.6l -0.11 0.1:
2.78 3 2.8% 2.97 0 11 11 0.63 —-0.45 0.1:
.23 2.47 1 1.88 1.48 0 11 11 0.94 0.03 0.1¢

=
(o]




detach(Testdata)

attach(Testdataneeds)
TotalAneeds<-A1+A2+A3+A4+A5+A6+A7+A8+A9
TotalBneeds<-B1+B2+B3+B4+B5
TotalCneeds<-C1+C2+C3+C4+C5+C6+C7+C8+C9
TotalDneeds<-D1+D2+D3+D4+D5+D6+D7+D8+D9
Totalneeds<-TotalAneeds+TotalBneeds+TotalCneeds+TotalDneeds

Totaldataneeds<-
cbind(TotalAneeds,TotalBneeds,TotalCneeds,TotalDneeds,Totalneeds)

describe(Totaldataneeds)

19

R R Console E=[EcE "
- 29 560 3.92 2.97 4 3.74 2.97 0 12 12 0.38 ~0.65 0.13
D6 30 560 3.04 2.65 3 2.80 2.97 0 11 11 0.54 -0.57 0.11
D7 31 560 2.34 2.47 2 2.01 2.97 0 11 11 o0.91 0.04 0.10
De 32 560 2.75 2.62 2 2.43 2.97 0 12 12 0.76 -0.13 0.11
D9 33 560 3.94 2.95 4 3.73 2.97 0 12 12 0.45 -0.58 0.12

> detach(Te=stdata)
attach (Testdataneeds)
Totalhneeds<-Ll+02+03+04+05+RE+AT+RE 400
TotalEBneeds<-B1+B2+B3+EB4+B5
TotalClneeds«<-C1+C2+C34+C4+C5+C64+C74+C84C
TotalDneeds<-D1+D2+D3+D4+D5+D6+D7+D3+D3
Totalneeds<-TotalAneeds+TotalBneed=s+Tota
Totaldataneeds<-cbhind (Totalineeds,
de=zcribe (Totaldataneeds)

iceds, Totallneeds, Totallneeds, Totalneeds)

WOWON N N OV NN

vars n mean 2d median trimmed mad min max range skew kurtosis se
TotalAneeds 1 560 27.46 19.41 24.5 25.899 21.50 0 a3 93 0.80 -0.29 0.82
TotalBneeds 2 560 14.30 11.0%9 12.0 13.20 11.86 0 49 49 0.74 -0.12 0.47
TotalCneeds 3 560 26.81 19.98 24.0 25.01 22.24 o 82 82 0.68 -0.27 0.84
TotalDneeds 4 560 28.18 19.96 26.0 26.61 22.24 0 90 a0 0.59 -0.36 0.84
Totalneeds 5 560 96.75 EB.62 85.0 90.96 75.861 0 299 299 0.64 -0.30 2.90

> |

= . a——————————————— . a———————— . a—————— ]




Totaldata Totadataneeds

- 2027 560

ROW<-nrow(Totaldata)
ROWneeds<-nrow(Totaldataneeds)

rep

GROUP<-c(rep(1,ROW),rep(0,ROWneeds) .1 2027 O 560

DataAALL <- ¢ (Totaldatal[,1], Totaldataneeds[,1])#1
cor.test(DataAALL, GROUP)

0.39-0.45

> DatalAlL <- c (Totaldata[,l], Totaldataneeds[,1
> cor.test (DataALll, GROUP)

Pearson's product-moment correlation

data: DatalaAll and GROUP

Tt = 23.752, df = 2585, p-value < 2.2Z2e-18

alternative hypothesis: true correlation is not egual to 0

95 percent confidence interval:

0.3210951 0.4543799

sanple estimates:
cor

0.4232536

- GROUP1

22




DataAALL <- ¢ (Totaldatal,2], Totaldataneeds|[,2])
DataAALL <- ¢ (Totaldatal,3], Totaldataneeds|[,3])
DataAALL <- ¢ (Totaldatal[,4], Totaldataneeds[,4])
DataAALL <- ¢ (Totaldatal,5], Totaldataneeds|[,5])

6.5

0.423
0.443
0.431
0.414
0.435

[0.391, 0.454]
[0.412, 0.474]
[0.399, 0.462]
[0.382, 0.446]
[0.403, 0.466]

23

Grade <- Testdata[,1]#Testdata.csv
plot(Grade, Totaldata[,1]) #

Grade
Grade

=
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cor.test(Grade,Totaldata[,1]) #
cor.test(Grade,Totaldatal[,2]) #
cor.test(Grade,Totaldatal[,3]) #
cor.test(Grade,Totaldata[,4]) #
cor.test(Grade,Totaldatal[,5]) #

6.6

0.776
0.751
0.780
0.784
0.795

[0.758, 0.793]
[0.731, 0.769]
[0.762, 0.797]
[0.767, 0.800]
[0.778, 0.810]

6-4-6
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e FA<-factanal(Testdatal[,2:33],factors=2,rotation="promax")

e print(FA, cutoff = 0) #cutoff

L

F

Loadings:
Factorl
Bl 0.934
Bz 0.808
B3 0.81e
B4 0.814
AL 0.811
Be 0.803
AT 0.808
aAg 0.802
B9 0.802
Bl 0.810
B2 0.7898
B3 0.787
B4 0.800
B5 0.824
Cl 0.811
Cz 0.806
C3 0.798
C4 0.7892
CS 0.801
Ceé 0.794
CT 0.806
cg 0.802
Ca 0.810
D1 0.805
D2 0.807
D3 0.806
D4 0.810
DS 0.803
D& 0.7895
DT 0.811
D& 0.785
D3 0.918

55 loadings
Proportion Var

Factorl
21.152
0.661

Loadings:
Factorl Factor2
a1 0.181 0.840

L2 0.756 0.085 Factorl

L3 0.185 0.704

4 0.852 0.184

L5 0.860 0.172

e 0.643 0.180

L7 0.72%8 0.094

g 0.882 0.127

ng 0.72%9 0.087

Bl 0.184 0.698

B2 0.737 0.074

B3 0.688%9 0.124

B4 0.727 0.087

B5 0.1%6 a.700

Cl1 0.742 0.082

cz 0.6873 0.153 Factorl Factor2
c3 0.702 0.114 S35 loadings 14.573  2.549
c4 0.672 0.138 Proportion Var 0.455 0.080
C5  0.70%9 0.107 Cumulative Var 0.455 0.535
Ce 0.683 0.118

c7 0.704 0.118 Factor Correlations:

ce 0.711 0.105 Factorl Factor2

co 0.TEE 0.035 Factorl 1.000 -0.84

Dl 0.700 0.121 Factor2z -0.E844 1.000

D2 0.824 -0.007 -

D3 0.706 d.116

D4 0.736 0.083 Factor2 A1l Bl
D5 0.668 d.154

De 0.684 0.128

D7 0.722 d.104

pg 0.722 0.087

Dpe 0.884 d0.050




library(lavaan)
Testdata.model <-"

Total="A1+A2+A3+A4+A5+A6+A7+A8+A9+B1+B2+B3+B4+B5+C1+C2+C

3+C4+C5+C6+C7+C8+C9+D1+D2+D3+D4+D5+D6+D7+D8+D9

"

fit <- cfa (Testdata.model, data=Testdata)

summary(fit, fit.measures=TRUE)

29

Testdata.model <-"

n

summary (fit, fit.measures=TRUE)
avaan (0.5-18) converged normally after

[l A SR S

Number of observations

Estimator

Minimum Function Test Statistic
Degrees of freedom

P-value (Chi-sgquare)

Model test baseline model:
Minimum Function Test Statistic
Degrees of freedom
P-value

User model wersus baseline model:

Comparative Fit Index (CFI)
Tucker-Lewis Index (TLI)

Loglikelihood and Information Criteria:

Loglikelihood user model (HO)
Loglikelihood unrestricted model (H1)

Number of free parameters

REkaike (RIC)

Bayesian (BIC)

Sanple-size adjusted Bayesian (BIC)

R Console

fit <- cfa (Testdata.model, data=Testdata)

31 iterations

Total=~Al+A2+A3+A4+AS+AE+AT+AB+A9+B1+B2+B3+B4+B5+C1+C2+C3+

21.447

-135326.2591
-131349.934

270780.

496

. 000

271138.8%98

270936.

(o8 ]

30




e Testdata.model <-'

First="A2+A4+A5+A6+A7+A8+A9+B2+B3+B4+C1+C2+C3+C4+C5+C6+C7

+C8+C9+D1+D2+D3+D4+D5+D6+D7+D8+D9
Second=~A1+A3+B1+B5

e fit <- cfa (Testdata.model, data=Testdata)
e summary(fit, fit.measures=TRUE)

31

> fit <— cfa (Testdata.model, data~Testdata)
Warning messages:

1: In lavaan:!‘:'lavaan (model = Testdata.model, data = Testdata, model.type = "cfa",
lavaan WARNING: some estimated wvariances are negative
2: In lavaan:!‘:!lavaan (model = Testdata.model, data = Testdata, model.type = "cfa",

lavaan WARMING: observed variable error term matrix (theta) is not positive definite; use inspect(fit,"$
> summary(fit, fit.measures=TRUE)
lavaan (0.5-18) converged normally after &7 iterations

Number of observations 2027
Estcimator ML
Minimum Function Test Statistic 4633.280
Degrees of freedom 463
P-value (Chi-=sgquare) 0.000

Model test baseline model:

Minimum Function Test Statistic TO821.447
Degrees of freedom 496
P-value 0.000

User model versus baseline model:

Comparative Fit Index (CFI) 0.5941
Tucker-Lewis Index (TLI) 0.936

Loglikelihood and Information Criteria:

Loglikelihood user model (HO) —-133666.575
Loglikelihood unrestricted model (H1) —131349.934
Number of free parameters &5
Akaike (RIC) 267463.149
Bavesian (BIC) 26T7828.080
Sample—-size adjusted Bayesian (BIC) 267621.570

R R Console

32




e Testdata.model <-'

First="A2+A4+A5+A6+A7+A8+A9+B2+B3+B4+C1+C2+C3+C4+C5+C6+C7
+C8+C9+D1+D2+D3+D4+D5+D6+D7+D8+D9

Second="~A1+A3+B5
Third="B1

e fit <- cfa (Testdata.model, data=Testdata)
e summary(fit, fit. measures=TRUE)

33

.R R Console
|

lavaan WARNING: observed wariable error term matrix (the
> summary [fit, fit.measures=TRUE)
lavaan (0.5-18) converged normally after 98 iterations

Humber of observations 2027
Estimator ML
Mipimum Function Test Statistic 4003.801
Degrees of freedom 462
P—value (Chi-sguare) 0.000

Model test baseline model:

Mipimum Function Test Statistic T0B21.447
Degrees of freedom 494
P—value 0.000

User model wersus baseline model:

Comparative Fit Index (CFI}) 0.8950
Tucker-Lewi=s Index (TLI) 0.94&

Loglikelihood and Information Criteria:

Loglikelihood user model (HO) =13335Y.835
Loglikelihood unrestricted model (HI1) —-131345.934
Humber of free parameters B&
Rkaike (RIC) 266835.670
Bayesian (BIC) 267206.215
Sample-size adjusted Bayesian (BIC) 266996.529

Root Mean Sgquare Error of Approximation:

RMSER 0.061
90 Percent Confidence Interval 0.060 0.063

34




4 )

* Testdata.model <-*
L=~A1+A2+A3+A4+A5+A6+A7+A8+A9
D="B1+B2+B3+B4+B5
S=~C1+C2+C3+C4+C5+C6+C7+C8+C9
P=~D1+D2+D3+D4+D5+D6+D7+D8+D9

e fit <- cfa (Testdata.model, data=Testdata)
e summary(fit, fit. measures=TRUE)

35

B R consobe (32-ba) o . - o=

]
(=]

In lavaan::lavaan(model = Testdaca.model, dece = Testdaca, model.type = “cfa®, 1
ilavaan MARNING: covariance MATTix of latent Variables is not positive Seflpited use inspect |Lif,"cov.lved

-,

summary (f1t, Tlt.medmire

lavann [03.%=18} converged normally afcer T4 iterations

Humbor of abasrvationn 027
EsTimator ML
Hinipmm Fusmetien Tess Statistic TTIE, T34
Degresa of fresdam 150
P=rvalus (Chi=square) o, 000

Hodel test baselins model:
Mirimom Function Tesc Sctacistic 7081 447
Dagresa of fresdom
F=walus

Uamr mocel versus baselins model:

Comparacive Fic Index (CFI)
Tuckse=Lewin Index (TLI}

Leglikelifcod and Informaticon Critesia:

Ioglikslihaod upoer medel (HI) «135217.,803
Loglikelinssd unoeatricted madel (HL) -131349. 004
thosber of free parsmsrters &
Akaike |AIC) ATOLTR . 803
Bayeaian (RAIC) 2ATONER . 805
Sarple-sire adjusced Bayesian (BIC) 270746215

Foot Mean Sguare Trror of Approximation)
KMELR o.0nn
30 Fersent Comfidemce Imcersval 0.087  0.090
P-value FHIEA 4= 0.05 2,000
Standardired RAootc Mean Square Residual:
aRMN B.017

Farametsr satimates:

Information Expecced
Stancdard Exrrora Stardard

36




6-4-7

6-5
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